N
5:5.0ptAC = 15°: 75°

~ 75
50ptAC =5X F = 25cm




Che 193} 2ol 279 ABCDE 7t €
O o WAst /B = 110° , /D = 140°
o o, /AOE 9] 37]&7?

@D 100° @ 110° ® 120°

@ 130° @140°

B \

HZX BE & 129 oBCDE & WHsl2 2 tjzte] 3t .CDE+
(EBC = 180°

- LEBC = 40°

/ABE = 110° — 40° = 70°

(AOE & /ABE 9] $4]Zfo|2 2

- x° =2/ABE = 2 x 70° = 140°




3. The I-oIA LA =85 A o, Lx 9 718 Fobw?

@® 80° @85° ® 90° @ 95° ® 100°

B

Hofl sk A2 & tiZhe] gl 180° o]z
OABCD 7} Yof yHst2=2

/DCF = /A = 85° o]t}

OCDEF 7} Hof] §Hste=

/x = /DCF = 85° o|t}.




oS T oA 5.0ptAB = 127 4 of, &
0 9] E919] Hol=?

D 287 @ 30m ® 327
@ 34n (@)3671

FH7Ztol 120° o W, &9] Aoj7} 127 o] B R
SAZo] 360° & W, (Y] E4) = 127 x 3 = 367




5.

N\ N
th-2 294 5.0ptAD = 15c¢m, 5.0ptBC = 5cm, /PBD = 48° ¢

o, /ZAPD 9] 37]=7

@© 48° @)64° ® 72° @ 84°

® 92°

5:15 =/BDC : 48°
(BDC = 16°
- LAPD = /PBD + /PDB = 48° + 16° = 64°




6. U 2N x+y o 20

@® 140° @ 145° ® 150° C(‘Qlf)f)o ® 160°

/ACB =90° |22 /ABC =60° x+60 =180 .. x=120°
Ly+30°=65° .. Ly=35°
. x+y=155°




o2 1989 /BOC = 90°, ZAQC = 60°
o of, /APB 9] 37]=9

D)15° @ 20° 3 25°

24 09} A2 0o 5.0ptAC o 9570] 60° B2 FAZ
/AOC = 120° o|t}.

ZAOB: 120° — 90° = 30°

5.0ptAB ©] F-47F LAOB = 30°

5.0ptAB o] =7ZF /APB = 15°




)

o mo

IE 3} Zo] ¥ 0 o WA= oABCD oA DA < CB ¢
Aol S Q, BA ¢ CD 9 A4 wde P & 5h4%
(P =42°, /Q =38 ¥ 1, /BCD 2&] 27]=7

@500 @52 G5 @5 O 5

B ~

/BCD = x 21 5}

/CBP = 180° —42° — x = 138° — x
/QDC = 180° — 38° — x = 142° — x
OABCD 7} Yof Y Hst2=2

138° — x + 142° — x = 180° — 2x = —-100°
o Lx = 50°




= % OABCD 7} ¢of WHoh= 4-%7F ofd A7

@AA: LC

@ (B =/C, AD //BC
® (BAC = /BDC

@ /A+/C=180°

® AC ¢} BD 9 w3 Pof tsle] PAxPC =PBxP

B

@ /A =180°— «C & uf, Yol WSt
@ AD//BC °|E2 /A + /B =180°
T, /B=/COo|R& /A +/C=180°
w2tA gABCD £ Yof Wit




10.

N\
T2 28| A 5.0ptAD = 5.0ptCE 0] 1

(AOB =128° ¢ ©, /DFB 9] 27]=?

@ 52° @ 56° @ 60°

B

tl

(@)64°

Q

AN

~_/

E

® 68°

B

/ACD =a, /DCB = b &1l 5},
a+b=/ACB = %AAOB =064°

/ACD = /CDE = q °]BEZ2
ACDF oA /DFB=a+ b= 64°




